RETAN XFX RS # o1
1. RXoAXZ2RESEEX. (SHK2030%, Afkdsr, Bi6s, CH9IsT)

(1) (2* +5z)? + 10(2? + 5z) + 24

(2) a2 +1

(3) 222 + 4% — 222 — 3xy —yz + 32z
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2. ROXZHNEEEX. (SH25 308, Afk4sr, B#6sy, CH9%y)

(1) xt —5x2+4

(3) 222 —y? 4+ 622 +ay+yzr— 82w
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REFAN X7 ESHE B 01 WRE®H

1. RXoAXZ2RESEEX. (SHK2030%, Afkdsr, Bi6s, CH9IsT)

e L o R B iR

cAZHCD. BEEHNIE B B,

* IR SISO\ THEIE S %
C A2 - B OBRARA—TT B,

(1) (2? +52)% +10(z2 + bz) + 24

=A?+10A+24 < A=2*+5z
=(A+4)(A+6)

= (2% + 52 + 4) (22 + 5z + 6)

=@+ 1D(xz+4)(r+2)(x+3)

— @+ D) (@ +2)(z+3)(z+4)

(2) a2 +1

=zt + 22+ 1422 —2?

= (2% + 222 + 1) — 22

= (22 +1)2 —2?

=@ +1+2) (2?2 +1-2)
=(@?+zxz+1)(z2—z+1)

(3) 222 + 9% — 222 — 3y —yz + 32z

=222 —3xy+ 32z +9y? —yzr— 222 <z IOV THEXRNEDIEIZIR D
=222 + (=3y + 32)z + (y? — yz — 22%)
=222 4+ (=3y +32)x+ (y — 22)(y + 2) < EBIED KL F

={x—(y—22)}{2z — (y+2)} < k7T EHET ORE
=(r—y+22)2x—y — 2)

k7§ S

1 —(y—22z) — —2y+4z

2 >< —(y+2) — —y—z
—3y + 3z

© B - B R LU0 (http : //www.enjoymath.sakura.ne.jp/index.html )



http://www.enjoymath.sakura.ne.jp/index.html

2. RXROAXZRESWHEX. (SH2730%, Afhdasy, B#6y, CHI%y)

(1)  z*—b522+4

A=22 B L,

5 =A% -54+4
—(A-1)(A- 1)

= (22 — 1)(2% — 4)

— @+ 1)@ - 1)@+ 2) (@ — 2)

(2)  a2*t+4

=% + 422 + 4 — 422

= (2t +42% + 4) — (22)?

= (22 +2)% — (22)?

= (2% + 2+ 22)(22 + 2 — 22)

=(z2 42z + 2)(z% — 2z + 2)

(3) 222 —y?+62°2 +ay+yzr— 82w

=22ty —8zx — 1y’ +yz+622 <z IZOVLTHERZIDIEIZIENRS
=222+ (y — 82)z — (y? — yz — 627%)
=227+ (y —82)a — (y — 32)(y + 22) < EBIADREI R

={z+ (y—32)}{2r — (y +22)} < KT EHIT OB
=(r4+y—32)2x —y — 22)

* 7T EHNT
1 +(y—32) — +2y—62
, o<

—(y+22) — —y-—2z
+y — 82

© Bt - 2R L7012 (http : //www.enjoymath.sakura.ne.jp/index.html )



http://www.enjoymath.sakura.ne.jp/index.html

